
iPW-10    iPW-7
組立說明書-V1

Installation Instruction-V1



7

G

1

A

2

B

E

6

AN

拡大図 AN 
縮尺1 : 1.5

D

C

3

F

4

5

P1

A-A

A-B A-C

B-A

B-B

B-C



 iPad Holder

P2

部品一覧
Product Component

ｱｲﾃﾑ
番号
Item

部品名
Description 

数量
Qty.

1  アーム
 Arm

1

2  調整チューブ
 Adjustable Tube

1

3 固定チューブ
 Bottom Tube

1

4  クリップホルダー①
 Clip holder-1

1

5 クリップホルダー②
 Clip holder-2

1

6  ノブ
 Knob

1

7 iPad用ホルダー 1

ハードウェアキット
Hardware Kit

A-A  M8ノブ
 M8 Knob

1

A-B  M5*30mm 内筒六角ネジ
 M5*30mm Hexagon Socket Screws

A-C  M5 ナット
 M5 Nut

4

4

B-A  レンチ
 Wrench

1B-B
 3mm アレンボルト用のレンチ
 3mm Allen Wrench

1B-C  4mm アレンボルト用のレンチ
 4mm Allen Wrench

各部品機能一覧
Special Function

ｱｲﾃﾑ
番号
Item

部品名
Description 

A  iPadアタッチメントボタン
 Attachment Button

B  アームチューブの内筒
 Bushing

C 調整チューブの固定ノブ
 Knob

D  アームの調整ナット
 Nut

E  V字型スプリング
 V Shape Spring- Single Side Bead

F  回転ホルダー
 Rotatable Holder

G iPad アタッチメントソケット
 Attachment Socket



1

2

3

6

B

C

E

P3

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

組立手順：
Installation steps：

1. Insert ② into ③.  
 

Adjust the desired height and then turn � until tight. 
 

※ Before insert ② into ③, should press � first. 
 
 After press �,and insert ②into ③,  
 
it is unable to draw ② out.

 

2. Insert ① into ②. 
 
Adjust the desired view angle and then turn ⑥
until tight.

 
Note：There is plastic bushing �inside tube ②. 
 

Check if �is still there before assembly. 

1.　②を③に差し込み、必要な高さを調整した後Ⓒを
　　締め付けてください。
　※②を③に差し込む前に、先にⒺを押して下さい。
　　�を押しながら②を③に差し込んだ後は、
         ②を取り外せなくなります。

2.　①を②に差し込み、角度を調整した後、⑥をしっかり
　　締めて下さい。

注意：組立て前にチューブ②の中に内筒Ⓑが入っているか
　　  ご確認下さい。



AS

A-C

A-B

4

5

B-C

AT
※ 組み立てた後の拡大図
※ Enlarged view after assembling

※ ⑤を組み立てる際、内側のナットが
        入っているかご確認下さい。
※ Please check if there is a nut installed 

before assembling.

P4

組立て手順：
Installation steps：

3.insert A-C through ④ till end.
 

4. Clip ④ & ⑤ onto the desired tube and 
   then turn A-C until tight.

3.④にA-Cを通し、奥まで差込んで下さい。

4. ④と⑤をご希望の車椅子パイプの位置に
  セットアップして、A-Cを締めてください。



5

A-A

F

3

P5

組立て手順：
Installation steps：

5.Ⓕを⑤と組合せて下さい。
   ※⑤の凸点はⒻの凹点と合わせて下さい。

5. Enter Ⓕ and combine with with ⑤.

        ※Convex on ⑤ should match concave on Ⓕ. 

6. ご希望の角度に調整した後、A-Aをしっかり締め付けて下さい。 
6. Adjust your desired view and then turn A-A　until tight.



 

1

 

 

Use "B-B"+"B-C" tools to adjust the tightness of 
all screws on three knuckles.

AO

Bottom View

+-

TightLoose

D

B-A

P6

※工具B-AでⒹを回し、①の上下動作の緩み
    具合を調整可能です。 

※ Use B-A to turn  Ⓓ for adjusting the tightness of 
① vertical movement.

拡大図 AO 
縮尺 1 : 2.5

下面図

締める緩める

三つの関節部のねじはB-BとB-Cを使って、
緩みをご調整下さい。



カメラ
Camera7

P7

※注意：1.カメラのレンズが遮られていないかご確認下さい。  

   * Note：1. Check if the camera is not covered.

   

Attachment Description 1：Press 4 corners of holder onto iPad.

※注意：2.組立て後はiPad落下防止のため、しっかり嵌っているか
 　どうかをご確認下さい。  

   

* Note：2. After attaching, please check if these two items are
  

fastened well for preventing iPad sliding and damaged.

組立手順一：　iPadを⑦の四つ角に嵌め込みます。



AR

AQ

   

    

Attachment Description 3：After attaching, turn iPad clockwise 

                                           

G A

  

   

    

   

P8

組立完成図
Attachment Finished

組立手順三：組立て後は時計回り、反時計回りでiPadを動かし、
         ご希望の角度に調整できます。

or anti-clockwise to get the best view.

組立説明二：Ⓐを押しながら、Ⓖの取り外し、取り付けが可能です。

   

Attachment Description 2：Press Ⓐ to take off or attach Ⓖ.

※注意：組立後はiPad落下防止のため、しっかり挟んで留めているか
  ご確認下さい。

   

* Note：After attaching, please check if these two items are fastened well 

  

 for preventing tablet sliding and damaged.


	封面
	工程視圖394

	P1
	工程視圖346
	工程視圖351
	工程視圖352
	工程視圖355
	工程視圖357
	工程視圖358
	工程視圖360
	工程視圖373
	細部放大圖 AN (1 : 1.5)
	工程視圖395
	工程視圖396
	工程視圖400
	工程視圖412
	工程視圖413
	工程視圖414

	P2
	P3
	工程視圖375

	P4
	工程視圖403
	細部放大圖 AS (1 : 8)
	工程視圖405
	細部放大圖 AT (1 : 3)
	工程視圖415

	P5
	工程視圖411

	P6
	工程視圖381
	工程視圖384
	細部放大圖 AO (1 : 2.5)
	工程視圖387

	P7
	工程視圖338
	工程視圖390

	P8
	工程視圖325
	工程視圖391
	細部放大圖 AQ (1 : 5)
	細部放大圖 AR (1 : 4)


